

**ВЫПУКЛЫЕ ПРОДОЛЖЕНИЯ
ДЛЯ КЛАССА КВАДРАТИЧНЫХ ЗАДАЧ
НА ПЕРЕСТАНОВОЧНЫХ МАТРИЦАХ**

NP -

[1].

[1, 2],

[3].

Π_n ,

[1, 2]

$$f(X) = \sum_{i,j,k,l=1}^n a_{ijkl} x_{ij} x_{kl} + \sum_{i,j=1}^n c_{ij} x_{ij} \rightarrow \min_{\Pi_n}, \quad (1)$$

$$\Pi_n = \left\{ X = [x_{ij}]_{n \times n} : x_{ij} \in \{0,1\}, i, j \in J_n, \right.$$

$$\left. X\mathbf{e} = X^T \mathbf{e} = \mathbf{e} \right\}, \quad (2)$$

$$J_n = \{1, \dots, n\}, \mathbf{e} = (1, \dots, 1)^T.$$

(2)

[3].

(1), (2)

[1, 2],

[4–6].

[1].

.....

[6 – 9].

$$\mathbf{A} = [a_{ijkl}]_{n \times n \times n \times n}$$

.....

$$a_{ijkl} = a_{klij}, i, j, k, l \in J_n. \tag{3}$$

[10, 11].

E

$$E = \text{vert conv } E. \tag{4}$$

.....

$$f_j(x) = 0, j \in J_m, \tag{5}$$

$$f_j(x) \leq 0, j \in J_m \setminus J_m'. \tag{6}$$

(5), (6)

(5), (6)

$$E = \bigcap_{i \in J_m} M_i, \tag{7}$$

$$M_j = \{f_j(x) = 0, j \in J_m'; f_j(x) \leq 0, j \in J_m \setminus J_m'\}. \tag{8}$$

E :

.....

$$m = m'; \tag{9}$$

(5), (6)

(7);

(8)

$F(x)$

$$F(x) = f(x), E,$$

$F(x)$

$$E' \supset E \quad F(x) = f(x).$$

$f(x)$

$$c E \quad E'.$$

.....

$$F(x) - \quad E' \supset E,$$

.....

$$F(x, \lambda), \quad x \in E' \supset E, \quad \lambda \in \Lambda \subseteq R^k,$$

k -

$$f(x), \quad E,$$

$$F(x, \lambda) \quad f(x) \subset E \quad E' \quad \forall \lambda \in \Lambda.$$

$B_n(1)$,

(15),

$B_n(1)$

$$\sum_{i=1}^n (x_i - 1/n)^2 = 1 - 1/n. \quad (16)$$

3. Π_n

$S_{R^{\min}}((\mathbf{a}^{\min})^n)$:

$$\sum_{i,j=1}^n (x_{ij} - 1/n)^2 = n - 1, \quad (17)$$

$$(\mathbf{a}^{\min})^n \quad (a^{\min} = 1/n) \quad R^{\min} = \sqrt{n-1}. \quad (16)$$

$X \in \Pi_n$:

$$\mathbf{x}_i \in S_{r^{\min}}^i(\mathbf{a}^{\min}) : \sum_{j=1}^n \left(x_{ij} - \frac{1}{n}\right)^2 = 1 - \frac{1}{n}, \quad i \in J_n, \quad (18)$$

$$\mathbf{x}'_j \in S_{r^{\min}}^j(\mathbf{a}^{\min}) : \sum_{i=1}^n \left(x_{ij} - \frac{1}{n}\right)^2 = 1 - \frac{1}{n}, \quad j \in J_n, \quad (19)$$

$$(18) \quad j \in J_n \quad (19) \quad i \in J_n.$$

1.

$B_n(1)$,

$$x_{ij}^2 - x_{ij} = 0, \quad i, j \in J_n; \quad (20)$$

(17)

Π_n ,

(20)

B_{n^2} ,

(17), (20) - $B_{n^2} \cap$

$\cap S_{R^{\min}}((\mathbf{a}^{\min})^n) = B_{n^2}(n)$,

$$|B_{n^2}(n)| = \frac{n}{n^2}.$$

Π_n .

[10]

Π_n :

$$\Pi_n = D_n \cap S_{R^{\min}}((\mathbf{a}^{\min})^n). \quad (21)$$

n^2

$2n$

(10)

(17).

(10).

(21)

(1):

$$\begin{aligned}
 &) \quad [6, 10]: f(X) \rightarrow \min_{D_n}; \\
 &) \quad [10]: f(X) \rightarrow \min, x \in S_{R^{\min}} \left((\mathbf{a}^{\min})^n \right).
 \end{aligned} \tag{1}$$

$$f(X) \rightarrow \min_{R^{n^2}} \quad D_n, \quad , \quad - \tag{17}.$$

(20),

$$\sum_{i=1}^n x_{ij} - 1 = 0, j \in J_n, \quad \sum_{j=1}^n x_{ij} - 1 = 0, i \in J_n, \tag{22}$$

$$\begin{aligned}
 & (\quad 1) \quad 4. \quad n > 2 \quad \Pi_n \quad . \quad - \\
 & \quad , \quad (20) \quad :
 \end{aligned}$$

$$\sum_{j=1}^n x_{ij}^2 - \frac{2}{n} \sum_{j=1}^n x_{ij} - 1 + \frac{2}{n} = 0, i \in J_n, \tag{23}$$

$$\sum_{i=1}^n x_{ij}^2 - \frac{2}{n} \sum_{i=1}^n x_{ij} - 1 + \frac{2}{n} = 0, i \in J_n. \tag{24}$$

$$\begin{aligned}
 & , \quad (18), (19) \quad - \\
 & (22) \quad (18) - (20) \\
 & (\quad 2) \quad (20), (23), (24). \\
 & \quad , \quad 1 \quad 2 \quad , \quad , \quad , \\
 & \quad . \quad (16). \quad (16), (18) - (20)
 \end{aligned}$$

3.

$$\begin{aligned}
 & \quad \Pi_n \quad . \\
 & \quad 3 \quad f(x), \quad \Pi_n \quad - \\
 & F(x) \quad (1) \quad :
 \end{aligned}$$

$$f(X) = f_1(X) + f_2(X) \rightarrow \min_{\Pi_n}, \tag{25}$$

$$f_1(X) = \sum_{i,j=1}^n c_{ij} x_{ij}; f_2(X) = \sum_{i,j,k,l=1}^n a_{ijkl} x_{ij} x_{kl}. \tag{26}$$

$$(3), f_2(x) \quad : \quad f_2(X) = f_2'(X) + f_2''(X), \quad (27)$$

$$f_2'(X) = \sum_{i,j=1}^n a_{ijij} x_{ij}^2, f_2''(X) = 2 \sum_{(i,j) \prec (k,l)} a_{ijkl} x_{ij} x_{kl}, \quad (28)$$

$$: (i, j) \prec (k, l) \Leftrightarrow i < k, \quad i = k, \quad j < l. \quad (27).$$

$$f_2'(X) \quad (20), \quad B_{n^2} :$$

$$f_2'(X) = \sum_{i,j=1}^n a_{ijij} x_{ij}^2 = \sum_{B_{n^2} i,j=1}^n a_{ijij} x_{ij} = F_2'(X). \quad (29)$$

$$(28) \quad f_2''(x) \quad :$$

$$f_{ijkl} = 2a_{ijkl} x_{ij} x_{kl}, (i, j) \prec (k, l), a_{ijkl} \neq 0. \quad (30)$$

$$(30) \quad f_2''(x) \quad (28) \quad :$$

$$f_2''(X) = \sum_{(i,j) \prec (k,l), a_{ijkl} \neq 0} f_{ijkl}. \quad (31)$$

$$(30) \quad (31)$$

$$f_{ijkl} = 2|a_{ijkl}| \left((x_{ij} \pm x_{kl})^2 - x_{ij}^2 - x_{kl}^2 \right) \quad (32)$$

3,

$$-x_{ij}^2 - x_{kl}^2 \quad (33)$$

3

$$1: \quad f_{ijkl} \quad B_{n^2} \quad R^{n^2}. \quad -$$

$$(33) \quad (20) \quad F_{ijkl} \quad (30)$$

$B_{n^2} :$

$$f_{ijkl} = |a_{ijkl}| \left((x_{ij} \pm x_{kl})^2 - x_{ij}^2 - x_{kl}^2 \right) = |a_{ijkl}| \left((x_{ij} \pm x_{kl})^2 - x_{ij} - x_{kl} \right) = F_{ijkl}. \quad (34)$$

$$\begin{aligned}
 (31) \quad & F_2''(X) = \sum_{B^{n^2}} \sum_{(i,j) \prec (k,l)} F_{ijkl} = \sum_{(i,j) \prec (k,l)} |a_{ijkl}| \left| \left((x_{ij} \pm x_{kl})^2 - x_{ij} - x_{kl} \right) \right| = \\
 & = f_2''(X) + 2 \sum_{(i,j) \prec (k,l)} |a_{ijkl}| (x_{ij}^2 - x_{ij}) = f_2''(x) + \sum_{i,j=1}^n (x_{ij}^2 - x_{ij}) A_{ij}; \tag{35}
 \end{aligned}$$

$$A_{ij} = \sum_{k,l:(i,j) \neq (k,l)} |a_{ijkl}|, \quad i, j \in J_n. \tag{36}$$

$$\begin{aligned}
 & 2: \quad f_{ij,i'j'} \quad \Pi_n \quad - \\
 & R^{n^2}. \tag{32}
 \end{aligned}$$

i, j, k, l : a) $i = k, j < l$;) $i < k, j = l$;) $i < k, j < l$. -

$$(33) \quad (32) \quad X \in \Pi_n \quad (\quad . \tag{16}) \quad -$$

$$(\quad . \tag{18}, \tag{19}). \quad : \tag{24}$$

$$-x_{ij}^2 - x_{kl}^2 = -x_{ij}^2 - x_{il}^2 = \sum_{\mathbf{x}_i \in B_n(1)} \sum_{j'' \neq j, l} x_{ij}^{2''} - \frac{2}{n} \sum_{j''=1} x_{ij}'' - 1 + \frac{2}{n}; \tag{37}$$

$$\begin{aligned}
 &). \tag{23} \\
 & -x_{ij}^2 - x_{kl}^2 = -x_{ij}^2 - x_{kj}^2 = \sum_{\mathbf{x}_j \in B_n(1)} \sum_{i'' \neq i, k} x_{ij}^{2''} - \frac{2}{n} \sum_{i''=1} x_{ij}'' - 1 + \frac{2}{n}; \tag{38}
 \end{aligned}$$

$$). \tag{16}$$

$$-x_{ij}^2 - x_{kl}^2 = \sum_{X \in \mathbf{B}_n(1)} \sum_{i'' \neq i, k; j'' \neq j, l} x_{ij}^{2''} - \frac{2}{n} \sum_{i'' \neq i, k; j'' \neq j, l} x_{ij}'' - n + 2. \tag{39}$$

$$(37) - (39) \quad (32) \quad :$$

$$\begin{aligned}
 f_{ijil} & \sum_{\mathbf{x}_i \in S_{i, \min}^i(\mathbf{a}^{\min})} |a_{ijil}| \left| \left((x_{ij} \pm x_{il})^2 + \sum_{j'' \neq j, l} x_{ij}^{2''} - \frac{2}{n} \sum_{j''=1} x_{ij}'' + \frac{2}{n} - 1 \right) \right| = \\
 & = |a_{ijil}| \left| \left(2x_{ij}x_{il} + \sum_{j''=1}^n x_{ij}^{2''} - \frac{2}{n} \sum_{j''=1} x_{ij}'' + \frac{2}{n} - 1 \right) \right| = \\
 & = f_{ijil} + |a_{ijil}| \left| \left(\sum_{j''=1}^n x_{ij}^{2''} - \frac{2}{n} \sum_{j''=1} x_{ij}'' + \frac{2}{n} - 1 \right) \right| = F_{ijil}^1. \tag{40}
 \end{aligned}$$

$$\begin{aligned}
f_{ijkj} \Big|_{\mathbf{x}_j \in S_{r, \min}^j(\mathbf{a}^{\min})} &= |a_{ijkj}| \left| \left(x_{ij} \pm x_{kj} \right)^2 + \sum_{i'' \neq i, k} x_{i''j}^2 - \frac{2}{n} \sum_{i''=1} x_{i''j} + \frac{2}{n} - 1 \right) = \\
&= |a_{ijkj}| \left(2x_{ij}x_{kj} + \sum_{i''=1}^n x_{i''j}^2 - \frac{2}{n} \sum_{i''=1} x_{i''j} + \frac{2}{n} - 1 \right) = \\
&= f_{ijkj} + |a_{ijkj}| \left(\sum_{i''=1}^n x_{i''j}^2 - \frac{2}{n} \sum_{i''=1} x_{i''j} + \frac{2}{n} - 1 \right) = F_{ijkj}^2. \quad (41)
\end{aligned}$$

$$\begin{aligned}
f_{ijkl} \Big|_{X \in S_{R, \min}(\mathbf{a}^{\min})^n} &= |a_{ijkl}| \left| \left(x_{ij} \pm x_{kl} \right)^2 + \sum_{i'' \neq i, k; j'' \neq j, l} x_{i''j''}^2 - \right. \\
&\left. - \frac{2}{n} \sum_{i'', j''=1}^n x_{i''j''} + 2 - n \right) = |a_{ijkl}| \left(2x_{ij}x_{kl} + \sum_{i'', j''=1}^n x_{i''j''}^2 - \frac{2}{n} \sum_{i'', j''=1}^n x_{i''j''} + 2 - n \right) = \\
&= f_{ijkl} + |a_{ijkl}| \left(\sum_{i'', j''=1}^n x_{i''j''}^2 - \frac{2}{n} \sum_{i'', j''=1}^n x_{i''j''} + 2 - n \right) = F_{ijkl}^3. \quad (42)
\end{aligned}$$

$$f_2''(X) \quad (31) \quad f_2^1(X), f_2^2(X), f_2^3(X), \quad x_{ij}, x_{kl} \quad) -). \quad -$$

(40) – (42),

$$F_2'''(X) \quad f_2''(X) \quad CS, \quad -$$

(17) \quad (18), (19), \quad R^{n^2} :

$$CS = \left\{ X \in S_{R, \min}(\mathbf{a}^{\min})^n : \mathbf{x}_i \in S_{r, \min}^i(\mathbf{a}^{\min}), \mathbf{x}_j \in S_{r, \min}^j(\mathbf{a}^{\min}), i, j \right\}. \quad (43)$$

$$F_2^1(X), F_2^2(X), F_2^3(X), \quad :$$

$$\begin{aligned}
f_2''(X) &= \sum_{\substack{(i,j) < (k,l), \\ a_{ijkl} \neq 0}} f_{ijkl} = \sum_{i=1}^n \sum_{j < l} f_{ijkl} + \sum_{j=1}^n \sum_{i < k} f_{ijkl} + \sum_{i < k, j < l} f_{ijkl} = \\
&= f_2^1(X) + f_2^2(X) + f_2^3(X) = F_2^1(X) + F_2^2(X) + F_2^3(X) = F_2'''(X), \quad CS
\end{aligned}$$

$$F_2^1(X) = \sum_{i=1}^n \sum_{j < l} F_{ijkl}^1, \quad F_2^2(X) = \sum_{j=1}^n \sum_{i < k} F_{ijkl}^2, \quad F_2^3(X) = \sum_{i < k, j < l} F_{ijkl}^3. \quad (44)$$

X :

$$s_i^k = \sum_{j=1}^n x_{ij}^k, i \in J_n; s_j^k = \sum_{i=1}^n x_{ij}^k, j \in J_n; S^k = \sum_{i,j=1}^n x_{ij}^k. \quad (45)$$

(40) – (44) :

$$\begin{aligned} F_2^1(X) &= \sum_{i=1}^n \sum_{j<l} F_{ijl}^1 = \sum_{i=1}^n \sum_{j<l} \left(f_{ijl} + |a_{ijl}| \left(\sum_{j''=1}^n x_{ij''}^2 - \frac{2}{n} \sum_{j''=1}^n x_{ij''} + \frac{2}{n} - 1 \right) \right) = \\ &= f_2^1(X) + \sum_{i=1}^n \left(s_i^2 - \frac{2}{n} s_i + \frac{2}{n} - 1 \right) \sum_{j<j'} |a_{ijl}|; \end{aligned} \quad (46)$$

$$\begin{aligned} F_2^2(X) &= \sum_{j=1}^n \sum_{i<k} F_{ijk}^2 = \sum_{j=1}^n \sum_{i<k} \left(f_{ijk} + |a_{ijk}| \left(\sum_{i''=1}^n x_{i''j}^2 - \frac{2}{n} \sum_{i''=1}^n x_{i''j} + \frac{2}{n} - 1 \right) \right) = \\ &= f_2^2(X) + \sum_{j=1}^n \left(s_j^2 - \frac{2}{n} s_j + \frac{2}{n} - 1 \right) \sum_{i<i'} |a_{ijk}|; \end{aligned} \quad (47)$$

$$\begin{aligned} F_2^3(X) &= \sum_{i<k,j<l} F_{ijkl}^3 = \sum_{i<k,j<l} \left(f_{ijkl} + |a_{ijkl}| \left(\sum_{i'',j''=1}^n x_{i''j''}^2 - \right. \right. \\ &\left. \left. - \frac{2}{n} \sum_{i'',j''=1}^n x_{i''j''} + 2 - n \right) \right) = f_2^3(X) + \left(S^2 - \frac{2}{n} S^1 + 2 - n \right) \sum_{i<k,j<l} |a_{ijkl}|. \end{aligned} \quad (48)$$

(46) – (48) (44), :

$$\begin{aligned} F_2'''(X) &= \left(f_2^1(X) + f_2^2(X) + f_2^3(X) \right) + \sum_{i=1}^n \left(s_i^2 - \frac{2}{n} s_i + \frac{2}{n} - 1 \right) \sum_{j<j'} |a_{ijl}| + \\ &+ \sum_{j=1}^n \left(s_j^2 - \frac{2}{n} s_j + \frac{2}{n} - 1 \right) \sum_{i<i'} |a_{ijk}| + \left(S^2 - \frac{2}{n} S^1 + 2 - n \right) \sum_{i<k,j<l} |a_{ijkl}|. \end{aligned} \quad (49)$$

$$: \quad \bar{a}_i = \sum_{j<l} |a_{ijl}|, \bar{a}_j = \sum_{i<k} |a_{ijk}|, A = \sum_{i<k,j<l} |a_{ijkl}|,$$

(49) :

$$\begin{aligned} F_2'''(X) &=_{CS} f_2''(X) + \sum_{i=1}^n \bar{a}_i \left(s_i^2 - \frac{2}{n} s_i + \frac{2}{n} - 1 \right) + \\ &+ \sum_{j=1}^n \bar{a}_j \left(s_j^2 - \frac{2}{n} s_j + \frac{2}{n} - 1 \right) + A \left(S^2 - \frac{2}{n} S^1 + 2 - n \right). \end{aligned} \quad (50)$$

Π_n B_{n^2} CS (43),
 (1) Π_n
 3 $f(x)$ (35), (36) (50) B_{n^2} CS
 R^{n^2} : $\forall \lambda \in (0,1)$ $f_2''(x) = \lambda F_2''(x) + (1-\lambda) F_2'''(x) = F_2''(X, \lambda)$.
 (25),
 :
 $F(X, \lambda) = f_1(X) + F_2(X, \lambda) = f_1(X) + F_2'(X) + F_2''(X, \lambda) =$
 $= f_1(X) + F_2'(X) + \lambda F_2''(x) + (1-\lambda) F_2'''(x)$, (51)
 $\lambda \in (0,1)$, $f_1(X)$, $F_2'(X)$, $F_2''(x)$, $F_2'''(x)$ -
 (26), (29), (35), (50),
 (1):
 $F(X, \lambda) = \sum_{i,j,k,l=1}^n a_{ijkl}(\lambda) x_{ij} x_{kl} + \sum_{i,j=1}^n c_{ij}(\lambda) x_{ij} + d(\lambda)$, $\lambda \in (0,1)$. (52)
 , (1) (52)
 $\lambda \in (0,1)$, (1)
 :
 $F(X, \lambda) \rightarrow \min_{\Pi_n}$. (53)
 z^l $z^* = \min_{\Pi_n} f(x) : z^l = \max(z^{l1}, z^{l2})$,
 $z^{l1} = \min_{X \in D_n} F(X, \lambda^*) = \max_{\lambda \in (0,1)} \min_{X \in D_n} F(X, \lambda)$. (54)
 $z^{l2} = \min_{X \in S_{R \min}((a^{\min})^n)} F(X, \lambda^{**}) = \max_{\lambda \in (0,1)} \min_{X \in S_{R \min}((a^{\min})^n)} F(X, \lambda)$. (55)
 $F(X, \lambda) \rightarrow \min_{X \in D_n}$ (53)
 , [12].
 $F(X, \lambda) \rightarrow \min_{X \in S_{R \min}((a^{\min})^n)}$ (55)
 [13].

-
4. *Krislock N., Malick J., Roupin F.* Computational results of a semidefinite branch-and-bound algorithm for k-cluster // *Computers & Operations Research*. – 2016. – **66**. – . 153–159.
 5. *Armbruster M., Fgenschuh M., Helmberg C. et al.* A Comparative Study of Linear and Semidefinite Branch-and-Cut Methods for Solving the Minimum Graph Bisection Problem // *Integer Programming & Combinatorial Optimization*. – 2008. – 9783540688860. – . 112 – 124.
 6. *Billionnet A., Elloumi S., Plateau M.-C.* Improving the performance of standard solvers for quadratic 0-1 programs by a tight convex reformulation: The QCR method // *Discrete Applied Mathematics*. – 2009. – **157**. – . 1185 – 1197.
 7. *Billionnet A., Jarray F., Tlig G. et al.* Reconstructing convex matrices by integer programming approaches // *Journal of Mathematical Modelling and Algorithms in Operations Research*. – 2013. – **12**, N 4. – . 329 – 343.
 8. *Sherali H.D., Adams W.P.* A reformulation-linearization technique for solving discrete and continuous nonconvex problems. (P. M. Pardalos, Ed.). – Dordrecht: Kluwer Academic Publishers, 1999. – 120 p.
 9. *Xia Y., Gharibi W.* On improving convex quadratic programming relaxation for the quadratic assignment problem // *Journal of Combinatorial Optimization*. – 2013. – **30**, N 3. – P. 647–667.
 10. . . . // *Eastern-European Journal of Enterprise Technologie*. – 2016. – 1. – . 27–38.
 11. . . . // . – 1994. – **34**, 7. – . 1112 – 1119.
 12. *Bertsekas D.P.* *Nonlinear Programming*. – Belmont: Athena Scientific, 1995. – 378 p.
 13. *Dahl J.* *Convex problems in signal processing and communications* // Ph.D. thesis, Aalborg University. – 2003. – 100 p.

01.03.2016

Об авторах:

-mail: pichugina_os@mail.ru

-mail: svsyak@mail.ru